FINEREFEIRERRRNFESEAS

A T, SH6E11824R
INFI~AFFR)—Y BEBA G
AJ0OvY 1 2 3 4 R | B
1{&K E£FELJITC) 3—0]3—-—0[(3—-—1]|3—-0] 1
2 (8 W (=#T1C) 0— 3 3—0]1— 3|1—2] 3
3[BE Kis(EES=) 0—3 ]| 0—3 0— 3 Jo— 3 4
4|8 K EEEH) 1— 3|/83=1]3=20 2—1| 2
BZOv% 1 2 3 4 s BR | I
1[#%HB EiE(=HTC) 3—0|3—-0]|3—0/(3—0]| 1
28 B FESEM 0— 3 3—0|l2—-3[1—2] 3
3|41l BAXGESSH) 0—3 ]| 0—3 0— 3 [0— 3 4
4FR BN (EEEH 0—3]|]3—-—2|3—-0 2—1] 2
KEFD2EFEANT) =T EHETOIN., TFEFOHFRIZIERIZRBRLALY,

INE1I~AE B FRBN—F A

Al AR EWERITO) 1 ) E(ZMTC) A2
3 {

A3 | BEER ARS (FER SF j_ 5| L EAGESSHED | B3
0

B2 | i e (RERSHH tE EAE(SHTC) | B

INBI~AE R F

o T T er e I cE [ N e R p—

INE5~65E T —4

AZ0v7 i 2 3 4 B ER | JEfr
[1|EK FUERJITC) 3—0]3-—-0 — 2—0]| 1
2|/5K ERBESEH) 0— 3 0— 3 — 0—2] 3
3|E# HME(ESRJTC) 0—3[3—0 — 1—2] 2

B2 AOwv% 1 2 3 AR | B
1|ZEB E (BERAARD) 3 — 0|3 —o0]2—0] 1
2 [/hvix R#E GBS JTC) 0— 3 3— 1 [1—1] 2
3|sEA =B ESJITC) 0— 3 1—3 | —~—~~—_|0—2] 3

cZawvy 1 2 3 BB | IEHE
1|EEHE BB (EEJITC) T~ 2 — 3] 3 —0]|1—0] 1
2| AGHEXRFEESTD 3— 2 3— 0 —
3ldelm ZE£JTC) 0— 3 0— 3 o—1| 2

INFEES~6FE BT RBrF—T AR

Al BER FUESJITO —' FEER B EA (ESJTC) | Cf

Cc3

B# MR JGESJTC) A2

B3 REEH R (E==JTC)

B2| ik EB\UEEDITO) 9 Mok R (EESETD | A3

c2 dER AZWRHEJITC) Z=EH B (E|RIRL) B1




FIEREFLRERERFFEER KRS

oS — M SM64F/11/24
DAZTRBFFEI)—S MBS HER
AJOv% 1 2 3 4 BB BY [ IR
;ﬂgmgﬁ&t%&.‘ﬁm 3—0 [ 3—0]3—0[3—0] 1
=R S(ERARD) [ 0 — 3—1[3—-0 2
3EE BOAEE [0 = 3—1 3
41753 & (=8) 0 — 4
[ 2 [ 3 [ER | R
3-0[3-072-0 2=0[ 1
0-3 3-0]1-1 =12
0-310-3 0-7 0-2 3
B 2 [3 F AR
1158 EE(CER) 3-0[3-0]2-0 2-0] 1
JRE WAEALA) [0-3 2-310-2 =12
3-K ZE(RH®) [0-3]3-2 1-1 0-2[ 3
) [ 3 B8 Jf
3-013-072-0 2-0[ 1
3= 0 [1-1 =1 2
0 -3 0-2 0-2 3
7 [ 3 [BK B
3-0[3-0]2-0 1=0[ 1
3= 111 0-1 2
-3 0-2 -
) [ 3 |[B&[E _PInyy T [ 2 [ 3 [BH[Es
3-0[3-02-0[ 1] [1AR x’lﬁﬁm 3-0[3-0[2-0[ 1
0-310-2[3 m) [0-3~I3-0[1-12
3-0 111 2 SR 0-3]0-2 0-23
) | 3 [BRlem|[  Qmys [ 1 [ 2 [ 3 ER
3-003-01[2-0 1 | 1|AN EACCER) 30 3-0[2-0 1
1-3[0-20 3 [2/gH XBEEAWY 0 -3 3- 0 [1-1] 2
3- | =11 2 | (33 E&(FALA) [0-3]0-3 0-23
_Wmyy T 1 [ 2 [ 3 TEH[6E R7AY7 T [ 2 [3 R
LR (= Ee) 3-113-0102-0] 1 Mmﬁsmﬂ‘ -
250 SHEALA) [ 1-3 3- 0 [1-1] 2 | [2I8 -
3zf XH(EER) [0-3[0-3 0-2 3
) | 3 [BH[EE
3-0 [1-0[ 1
- 0-1] 2
2 | 3 [BH[EE
i JIC) 3-0[1-0[ 1
_z me = = = =
SEE S(XAd) [0-3] - 0-1] 2
3 il
3-02-0 1
3= 0 [1-1] 2
0-2 3




Al

(L

P1

1

il

Ut

Li

Tl

DI

VAT BFREN—F AV

ARRER (28—

Ff EA )

l

AB K (FEJTC)

BR Ki(EERH)

I

==

T
ABEAD =A%) —

#3 BRURITD) —

Bl K3 (KA

1

&0 K5 (=)

.

58 B30z |,
VK B (£3L4) J-
=t

B e (8RR —

f

(

o

— 48 K=

M vt mecganmo

AL R(ERITC)

o
0
e REESRD

=R R(EHAD)

n —{ ol 58EE

— D K=

W EC0ERITC)

=

iﬁ hlg 15 (=)
i ER(EHD)

J =

5k 1B EERD

Gl

S

NT

K1

A2

F1

G1

01

RI

)| B



FIEREFSHERERENFELIRAR

s — 4H64E/11/24
e el - o = BEBAGEE
[ AJOv7 1 2 3 4 BB BT | Ik
1 [EE EERD) 3—0[3—0[3—013—-0] 1
ARt EEEIE L) 0 —3 3— 1 [ 3—0]2—1[ 2
(3 |[@E %% E£JTC) 0—3] 1—3 2— 3 [0—3] 4
4|tk RIE(SHiP) 0—3]0—-—3]3—2 1—2] 3
BZ0OY7 i 2 3 4 FEANER
1 [/MNNEH D% (ZHT) 3— 0] 3—0[3—013—0] 1
2|BI HFFESEF) 0 —3 3— 1 [ 3—01]2—1] 2
JEX BB =ED) 0—3] 1—3 3—0 [1—2] 3
4[E#W _EX(ESJTC) 0—3/0—-—3]0-—3 0—3] 4
cJovus 1 2 3 R ER | iE
[ ERC o ) 3— 0 | 3— 0 |2—0[ 1
2[RI L= FEHLAZER)| 0 — 3 0 — 3|0o—2] 3
3 a5 (=) 0 — 3 3— 0 1—1 2
DIOvT 1 2 3 PR RR | liEfz
1[EE & =m = =
2 [T A= (B RARL) — 3— 0 [1—0] 1
3[FER B (EmemETh) — 0 — 3 0—1] 2
EJOV7T 1 2 3 R | IEf
1;#H 2R (=#d) 3— 0 3— 0 |2—0 1
2 | ETRAE GEamT) 0 — 3 1i— 3 [o—2] 3
EERETN D) 0 —3[ 3—1 1—1] 2
FoOvg 1 2 3 FER R | B
1 L (EALABES) 3— 1 | 3— 1 [2—0] 1
2 |=A& FE(=@F) 1— 3 3—0 [1—1] 2
3[R =E GlmE ) 1i—3 | 0—3 0—2[ 3
GJOv%s 1 2 3 SBR[ Iad
1A Ds(ESmEGg) 3— 0 3—0 12—0 1
| 2 528 ER(GEsSES) 0 — 3 3— 1 1—1 2
| 3IFRE EFE(=80) 0 — 3 1— 3 0—2 3
__ HJOvS 1 2 3 BRER | IEfE
1|E#% BIEGEmET) = 3— 0 — 1—0] 1
2 |31 I (=#ch) 0 — 3 — 0—1 2
_3_‘ _\ = — == \ .
wl=D 1 2 3 RN | IEfE
1[BE CE(=ad) —— | 3— 0] 3—01]2—0] 1
| 2|=EA =5 @ESEP) 0 — 3 T~ 3— 0 |1 —1 2
3|%EE T EEET) 0 —3|0—3 0—2[ 3
Al BETTEEEERS) PH BEGFESRERD)| i
\ — L msmas(SHH) | A
MR D FESED)| G
0 3
HL |+ SB1E R R S) | FH LB (EBLA) | FI
B2| &Il HFESHES) 0 BFE CEEHP | N
0 0
DI /A #&B&FEHRL) ) INIRS D% (= 4he)| Bl




831 @fiﬁﬁﬁﬁiﬁ“ﬁﬂ%ﬁéﬁkn

B ¢) 11824
BB FFRY—Y e anag
AJOv% i 2 3 4| BB ek
1[=18 ;&8 (HDS) 3—0 3—0 3—1 [[3—0] 1
2151l FA(FEALA) 0—3 3—0 3—0 |[2—1] 2
e FEUELOTC)| 0—-3 | 0—3 0—3 03] 4
4FLAHFAFESFEP)] 1—3 | 0—3 | 3—0 1—2] 3
BJOvY 1 2 3 4 [ BEx | JEf
&2 % (RALE) 3—0 3—1 3—0 [[3—0] 1
25k EH(FEBLA) 0—3 3—2 3—1 |l2—1] 2
BB MEWMERE,R)| 1-3 | 2—3 3— 1—2] 3
4B B4 0E£0TC)| 0—3 | 1—3 | 0—3 03| 4
c7Z8v7 1 2 3 By | BT
IE T ICTEP)) 1—3 | 3-0 | 1-1] 2
20/ vk SR (IOTTF) [ 3—1 3—0 [2—0] 1
| 315541 B ES$JTC) | 0— 0—3 0—2] 3
DJOvYT i 2 3 | IEER | Jak
1 (F5LA) 3—1 3—1 [ 2—0] 1
AL jtﬂh( $RTC) -3 3—1 [ 1—1| 2
3 TRF MK (Hr>7) -3 1—3 0—2| 3
EJOv7 i 2 AN
/M K (ZHTC) 3—0 | 2—=3 [1—-1] 2
20(E#+E(FELA) | 0—-3 0—3 [0—=2] 3
3| AKH¥EFESHEFB)| 3—2 | 3-0 2—0 [ 1

KANY—T LML E T, SA)—J (X2 ETHRBF—F AU MER,

— B FRBE—F A b

Al| @& &BHDS)

E2[ INEY K (SRTC)

BZ| St EB(EDLAD

51| BNl A GESTES)

B3 | =R OAEGAEES )

D1 | TERE EE(EDHLA)

INFR FERR(TICTTF) | c1

|l K (=4TC) | D2

=L SI(EDLA)D | A2

EE SEE (oS | c2

H HenmAdmEnEs | A3

TE EUaETE) | B1

— L F)—J 8
—BZF 1 2 3 BEER | IEfE
110 #E(FHLA) 3—0 3—1 2—0 1
2| KB =R(EBHLA) 0-3 0-—3 0—2 3
IR =M (MARESR)| 1—-3 3—0 1—1 2




EIREZEFEREUSRENFELRKS
AF164E11 4248
HEERAeEkTHE

BFET IR
M KEE(ZHTO | | R (RERR)
A FE(ZHTC) ArHEE FEEET)
2
o /MK EKF (BE4JTC)
BA FEOEEITC) B P (EAITC)
A H BBk (84JTC) 0 :
HF BIR(EEITC)
L 56 (E&]TC)
3 0
A 7 GE4JTC) B KEEsED)
BrRF BN GR4ITC) ol |2 BB (FEERT)
A A (EEETD) RHE R (WEEITC)
R & (R ET) L] L VIAE KT (HEAITC)
1
5E BEMIT7) I TEFR (7 VTTF)
R K Er77) 0 58 BEATE)
LEHETIVA
1 2 3 B NERL
FLl B (Hr57)
1 3—1 0—3 1—1 2
BIYT (45 7)
FLIL FIE(EBLA)
2 1—3 0—3 0—2 3
BE ALE(EBLA)
FLL 4 (FAHLA)
3 3—0 3—0 2—0 1
KB Ex(FBHLA)




